Jalaseh-4-G1

;> wi th(plottools):

> cl :=vcircle([1,1], 1, color=blue):

| c2 :=circle([1/2,1], 1/2, color=red):
> display(cl,c2);
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> for k froml to 10 do
c[k]:=circle([1, 1/Kk],
L od:

> display(c[1]);
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=> display(c[1], c[2], c[3]);
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=> display(seq(c[k], k=1..10));
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> implicitplot(x2 +y2= I, x=1.1, y=1 ..1);




> implicitplot( l,x=—-2.2, y=—3 .3, scaling = constrained);

X
4




-1.5 -1 -05 0 05 1 1.5
X

;> with( plottools) :
| > el :=ellipse([1,2],1 ,4 , color =blue):
> display(el, scaling = constrained);




_> a:.:=arc([3, 0], 1, O0..Pi):
di spl ay(a, color=red, scaling=constrained);




> C .

=ellipticArc([1,1], 2, 3, 0..3*Pi/4):
d:==¢ellipticArc([0,0], 3, 4, 3*Pi/4..2*Pi, filled=true, color=
green):

_>-display(c, d, scaling=constrained);




(> Limit(sin(x)/x, x=0)= limit(sin(x)/x, x=0);

lim (—Sm(x) ) =1
x—0 X

> Limit( y=4 - Sqrily+3)) ,y=l,left) - limit( ly =4 sqrily +3)) ,y=1,left);
(—1) ("—1)
lim y—44y+3 ~ o
i y—1- y2_1
B 1 1
3 3
> Limit( ((H’hh) _1) ,h=0J=limit[ ((l+hh) _1) ,h=0];
a1y 1
i }11310( h 3
[ ((root[3](1+RM)—1) N _ . ( (root[3]1(1 +h)—1) , _
> lell( I ,h—O)—llmll‘( h ,h—O),

(113) _
lim((l+h) 1)=1

h—0 h 3

> Limit(sqrt(x2 +2 -x) +x,x=— inﬁnily) =limit(sqrt(x2 +2 -x) +x x= —inﬁnily);
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lim ( ¥ H2x —I—x)=—1
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